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(1)500ha = [ |km?

(2) 20300000m® = |ha

(3) 7000000 m? = ]km?
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1km? = 100 ha = 10000 a = 1000000 m?2
(1) 500 ha = 5km?

(2) 20300000 m? = 2030 ha

(3) 7000000 m? = 7 km?




® 300a = 3m?
@2030 m? =20.3a

® 770a="T7ha
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@ 9km?2 = 90000 ha

@ 43ha = 4300 m?
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@ 300a = 0.03km?
@ 9km? = 900 ha

@ 43 ha = 430000 m?
® 770a = 7.7ha
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® 0.21ha @ 3000 cm x 45 m

® 5800a @ 1.43km?

@1.41 km?
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T 2o w92 1A A vt
@©0.21 ha = 2100 m?

@3000cm x 45m = 30m X 45m = 1350 m?
®5800a = 580000 m?

@®1.43km? = 1430000 m?

®1.41 km? = 1410000 m?
@>0>0>0>0




@® 3kg=3000g @ 4t =4000000g

(@)5.51: = 55000000 g @ 6t = 6000kg

® 120t = 120000 kg

@ 5.5t = 5500 kg = 5500000 g
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@ 30t 7190 kg © 37290kg
© 38t @ 37980 kg
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FRE TUAIA HlZEYT 2% kg O & IX|H
@ 37190 kg

© 37290 kg

© 38000kg

@ 37980 kg
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[> ' 26kg

6.5t = 6500 kg
Sk AFAFO] B 6500 + 250 = 26( kg)
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800 cm — 8m
5><8=40(m2)
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_1800m _ _
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[ Jkm?
> m?
> E ha
> = km?

> HehD 3080000 m2
> HED 308ha

> HE . 3.08 km?
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(AreFE]E 2] Hol)

= (1800 + 2600) x 1400 + 2 = 3080000 m?

1km? = 100 ha = 10000a = 1000000 m? | 2 &
3080000 m? = 30800a = 308 ha = 3.08 km? QY t}.




® 12ha @) 1200000 m?
@ 0.12km?2 @ 1200a

® 1200000000 cm?
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GAE m? 2 FASNA gy

@ 12ha = 1200a = 120000 m?

® 0.12km? = (0.12 x 1000000) m? = 120000 m?
@ 1200a = 120000 m?

® 1200000000 cm? = 120000 m?
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obtele] Aol S [ Jm 2t hel olelel Wolt (45 +[ ) x
30 +2 = 1155

45+ ]=1155x2+30

B+ =17

[ ]=32(m)
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p cf ha
[> ®Eh: 175ha

(24 3) x 0.7+ 2 = 1.75( km?)
= 1.75km? = (1.75 x 100) ha = 175 ha
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la = 100 m?

T3 9] Ho] 1 4 wol+ At E9] Hol
70 x 300 = 2 + (300 + 220) X 100 < 2

= 26000 + 10500 = 36500( m?) = 365a
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> £ 7H

> ®ED 280000 71

80 x 35 = 2800( km?)
= 2800km? = 280000 ha
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> ®e D 10074

2000 x 400 + 2 = 400000 m?
— 4000a + 40a = 100(7H)
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7ket 1o ol g uirol A AZs) B,
7= 200 x 120 = 24000( m?)

H=E@x160

7+ Y=8 ha = 800a = 80000 m? o] 2L
24000+ x160 = 80000

@x160 = 56000

@= 56000 + 160 = 350(m)
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719} vhe] ol 2 viol A Azte) B,
7= @ x 60

= 190 x 90 = 17100 m?

714 14=2.37ha = 23700 m? ©| 22

@ X% 60 + 17100 = 23700 m?

@ x 60 = 6600

@ = 6600 + 60 = 110(m)
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- nm =
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> =Eh 1425000 cm?

AL BE=2m

AB BA=14-11=3m
Hol=(164+2)x14+2+11x3+2
= 142.5m?

= 1425000 cm?
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FAE 2 kg Qu71?

Ao Yol

= 95 x 60 = 5700m? = 57a
12.54t = 12540kg

1a 9] 7] = 12540 + 57 = 220kg
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H2] Zol7h 150m §
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(60 -+ 30) X 150 + 2 X 2 = 13500( m?)

13500 m? = 135a
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ol" 2= FHANA A 7IA R 1 A7l 82kg A X2 E
B 7| A= 2 A7te] 196kg A 2] 2 S A4

S A|of] AFRSEe] 2] & 1.35¢ & AAtst=d] A A
oA L.

» =

|

> ®MEH: 4502
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B 7| AR 1 A7 ]| AJAtst= A==

196 + 2 = 98( kg) @Yt

1.35t = 1350 kg ]| B2

1350 + (82 + 98) = 7.5(A1%h)

7.5 AlZt= TAIZE30 &

w2hA 7 x 60 4 30 = 450(2) dYth.




